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I11. N§i dung cau héi thi: .

PHAN TRAC NGHIEM (4 diém)

Select the best option to fill in each blank of the following sentences below. (4 marks/ 0,1
each)

My new car is being repaired the garage. It will be ready three hours.
A.at.....in

B.in.....in

C.on.....at

D.of..... for

ANSWER: A

He cannot think an answer my query.
A.of .....to

B.at..... for

C. about ..... for
D. of ..... with
ANSWER: A

The men and women are laughing something they have seen a comedy.
A.at.....in

B.at.....of
C.to.....in

D. with ..... on
ANSWER: A

The meeting will focus environmental problems developing countries in Asia.
A.on.....in

B.in.....on
C.to.....in
D.at.....of
ANSWER: A

Police are searching a criminal who escaped the jail.
A. for ..... from

B. about ..... to

C. of ..... about

D. with .....in

ANSWER: A

happiness, we need both science and history.

A. In order to understand
B. To have understood
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C. Being understood
D. Understanding
ANSWER: A

If it is so difficult weight, why do people keep ?
A.tolose ..... trying

B.tolose .....to try

C. losing ..... trying

D. losing .....to try

ANSWER: A

His lawyer advised him not anything to the police.
A. to say

B. saying

C. say

D. to be said

ANSWER: A

something! Don’t just stand here nothing!
A. Do ..... doing
B. To doing ..... to do
C.Todo ..... to doing

D. Doing ..... do
ANSWER: A
Jonathan still remembers by a dog when he was a child.

A. being bitten
B. to be bitten
C. to bite

D. be bitten
ANSWER: A

Her doctor’s diagnosis that | had an ear infection.
A. was

B. were

C.is

D. are

ANSWER: A

Idealism is the that a perfect life can be achieved.

A. belief
B. believe
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C. positive
D. aware
ANSWER: A

Mark said to his girlfriend, “You can use my car this morning.”
A. Mark told his girlfriend that she could use his car that morning.
B. Mark told to his girlfriend that she can use his car that morning.
C. Mark told his girlfriend that you could use his car this morning.
D. Mark told his girlfriend that she can use his car this morning.
ANSWER: A

“How about having the party at the hotel?”. Mary suggested
A. having the party at the hotel.

B. about having the party at the hotel.

C. to have the party at the hotel.

D. how about having the party at the hotel.

ANSWER: A

His teacher said to him, “Make sure to leave enough time to check over your test.”
A. His teacher told him to make sure to leave enough time to check over his test.

B. His teacher told him make sure to leave enough time to check over your test.

C. His teacher told to him to make sure to leave enough time to check over your test.
D. His teacher told to him make sure to leave enough time to check over his test.
ANSWER: A

Her sister doesn’t know she loves because she is a very reserved girl.
A. whom

B. who

C. where

D. why

ANSWER: A

I don’t know where after school.
A. he goes

B. does he go

C.hego

D. does he goes

ANSWER: A

Tom’s new plan will be an improvement remains to be seen.
A. Whether
B. Why
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C. What
D. Where
ANSWER: A

Kevin: Can you tell me ?
Jim: The film begins at 3:30.

A. what time the film begins

B. what time the film begin

C. what time does the film begins
D. what time does the film begin
ANSWER: A

A letterbox is a narrow opening in a door through mail is delivered.
A. which

B. where

C. that

D. it

ANSWER: A

My uncle and | are going to ride our bicycles across the country. We will ride for seven to
eight hours every day, then stop we happen to be at the end of the day.

A. wherever

B. whatever

C. whichever

D. whoever

ANSWER: A

Fieldwork is practical work outside the school or office.
A. done

B. that does

C. which do

D. doing

ANSWER: A

Lecturers need to demonstrate a great deal of responsibility in their work to gain the trust and
respect of the students they work.

A. with whom

B. who

C. of whom

D. for which

ANSWER: A
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Can you ask those outside to be quiet?
A. standing

B. stand

C. to stand

D. stood

ANSWER: A

An expert observed that playing games is fun, and that is the reason
people have done it for many years.

A. for which

B. of which

C. about which

D. from that

ANSWER: A

Good morning, if you your seats, we can begin the meeting.
A. will take

B. taken

C. should take

D. took

ANSWER: A

they not rushed to the hospital, Taylor would have died.
A. Had
B. If
C. Should
D. Unless
ANSWER: A

Ifl you, | a new car for much more comfort.
A. were ..... would buy

B. was ..... will buy

C. were ..... would have bought

D. was ..... buy

ANSWER: A

Ifl a taxi, | would have come round to see you.
A. could have got

B. could get

C. could got

D. can get
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ANSWER: A

Whatifyou  alotof money,  you give up your job?
A. had ..... would

B. have ..... would

C.had ..... will

D. have ..... did

ANSWER: A

| understand why she thinks that way, | disagree with her viewpoint.
A. Although
B. Because
C.If
D. even
ANSWER: A

You had better not drive you have been consuming such large quantities of
alcoholic drinks.

A. after

B. in order that

C. even though

D. no matter what

ANSWER: A

You should keep these apples in the fridge they do not lose their freshness.
A. so that

B. unless

C.so

D. since

ANSWER: A

you pass or fail this test, you need to study much harder.
A. Whether
B. When
C. So that
D. Because
ANSWER: A

far the way is, we still must keep going.
A. However
B. Because
C. Even though
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D. If
ANSWER: A

for warm Christmas is my family.
A. All | want
B. All want |
C. l all want
D. I want all
ANSWER: A

television can be educational, | believe that it is better to read books.
A. Even though
B. On the whole
C. Furthermore
D. On the other hand
ANSWER: A

who lent him the money.
A. It was Nicolas
B. Nicolas
C. Nicolas it was
D. Nicolas was
ANSWER: A

about the place is the transportation.
A. What he doesn’t like
B. That he doesn’t like
C. The reason he doesn’t like
D. He doesn’t like
ANSWER: A

Only with a great deal of effort able to succeed.
A. are we

B. we can

C. can we

D. we are

ANSWER: A

PHAN TU LUAN (6 diém)

Use the words given in brackets to complete each second sentence so that it has the
closest meaning to the previous one. (6 marks)
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Céu 1 (0.6 mark): What Leonardo wants to know is how healthy you are. (concerns)

—> Leonardo

Cau 2 (0.6 mark): Scientists believe that human activity is the cause of water poIIutlon
(What)

- What

Cau 3 (0.6 mark): Dr. Nunan talked about humanlsm during the second lecture. (in which)
- | was

Céau 4 (0.6 mark): There must be a good source of light, or plants will not grow indoors. (In
order for)

- In order for

Cau 5 (0.6 mark): Planning ahead is essential in many kinds of job. (plan)

2> It

Cau 6 (0.6 mark): If you had not helped we could not have succeeded in the project. (without)
-> Without

Céau 7 (0.6 mark): Elderly people do not have much money, but they are usually generous.
(despite)
-> Despite
Céau 8 (0.6 mark): Getting up early in the mormng IS quite new to me. (used to)
2> lam

Céau 9 (0.6 mark): The messy living room is |rr|tat|ng my eyes. (that)

> It
Céau 10 (0.6 mark): Gas prices fell last month (a decrease)
-> There
PAP AN PHAN TU LUAN VA THANG PIEM
Phan cau héi | N@i dung dap an Thang diém | Ghi chi
l. Triac nghiém 4.0
Il. Tw luan 6.0
Céaul Leonardo concerns how healthy you 0.6
are.
Céu 2 What scientists believe is that 0.6
human activity is the cause of water
pollution.
Céu 3 | was at the second lecture, in which 0.6
Dr. Nunan talked about humanism.
Cau4 In order for plants to grow indoors, 0.6
there must be a good source of light.
Caub It is essential to plan ahead in many 0.6
kinds of job.
Céu 6 Without your help, we could not 0.6
succeed in the project.
Cau 7 Despite the fact that elderly people 0.6
do not have much money, they are
usually generous./ Despite not
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having much money, elderly people
are usually generous.

Cau8 | am not used to getting up early in 0.6
the morning.

Cau 9 It is the messy living room that is 0.6
irritating my eyes.

Céu 10 There was a decrease in gas prices 0.6
last month.

Piém tong 10.0

‘ TP. Ho Chi Minh, ngay 21 thang 6 nam 2024
Nguwoi duyét de Giang vién ra deé

TS. Nguyén Hoa Mai Phwong ThS. Truwong Phu Sy
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